=

7 =8 579 £8 el AGUTh A4S 7P go

a2
72k wot 7P AA| 7|2 To] 2] 9] S0 242 P 2.
A% > k000
A * k00
Z35EE | OoOOoOd e e
I OO e eeee
HeHEE [ OOD e ee
Hehd= | skokOO
AAELZ | wOOeeee
AAIE | kk e ee
AFE soe

* 109 1t2] o 15 ate] o 14 ot

> e

]



S T 2a
0 10 20 30 40 50 60 70 80 90 100(%)
I_LI 1 I 1 | 1 | 1 | 1 I 1 | 1 | 1 | 1 |

ragl dae | [rae],

AR EAl

5!

Mo



3. =Aol s 17-E vehd wImof A 45 %= EAFel AL, EAHe)
20 %9k o2F] 16 %7t 25 AYY. 25 F EAE A
A B %AA] FSHA L.

5 Eg %



2] &old] st 6 S A 240 ol 7HF FolstE &%
FAFst] Uepd ey, S Mo 2 Folshes =5
FAJA FEHA L.

=
[=)

-
%

O

=
=

Mo

=5



2o Aaeima e o, W] 71 L A A4 2 A
4 T34 2.

21017} 30cm €1 @2 Z oA 3cm
ZAA17F 100 Q1 FoflA] 50
I zmof| A Fo] yo]e] % £ AHA|5t= Hl&

ZA 400 7Hfl gt 100 7H7F ZFA]5H= H]-&

Q
©
©
@

SR %



